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RS Four choices are 'given for each of the following questions / incomplete '
statements. Choose the correct answer and write the cdmplete answer along

with its letter of alphabet. 8x1=8
1. The treaty that ended the first Anglo-Mysore War was
(A) The treaty of Salbai (B) - The treaty of Madras

(C) The treaty of Mangalore (D) The treaty of Srirangapatnam.
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The dictator of Italy was
(A) Lenin v (B) Stalin
(C) Hitler (D) Mussolini.

The Premier of China who signed Panchasheela Principles was
(A) Sun Yat-sen
(B) Chiang Kai-shek

(C} Chou En-Lai

(D) Mao Tse Tung.

The labourer from unorganized sector is

(A} Soldier

(B) Bank employee

(C) Lawyer

(D) Beedi Worker.

Movement opposing Kaiga Nuclear Power Plant took place in the state
(A) Uttar Pradesh , (B) Tamil Nadu

(C) Karnataka . (D) Gujarat.
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6. Eastern Coastal plain is
(A) Broader (B) Narrow
(C) Steep . (D) Rocky.

7. Quantitative Credit Control Measure among the following is the
(A) change in lending margins
(B) Bank rate policy
(C) Moral suasion
(D) Direct action.
8.  Office of the World Trade Organization is located at
(A) Rome
(B) Paris
(C) Geneva
(D) Washington.

II. Answer the following questions in a sentence each :

85-E

8x1=8

9. Why did the British shift Kittur Chennamma from Bylahongal to Kusugal

prison ?

16. How did Hitler supress the socialists and communists ?
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1.

11.

12.

13.

14.

15.

Total disarmament is impossible. Why ?

Why .do laboure’rs of unorganized sector migrate ?

What is the reason for having tropical monsoon type of climate in India ?
Which is the most populous state in India ?

What is National Income ?

16’/.' What is the need for consumer protection ?

Answer the following questions in four points each : 8x2=16

17/  Second Carnatic War brought laurels to the British. Justify.

19.

20.

21.

-}8./Partition of the country in 1947 created new problems. How ?

How is World Health Organization trying to free the world from diseases ?
OR

Why is disarmament a need of present day world ?

Child marriage stunts holistic development of children. How ? ‘
OR

D. Devaraja Urs ushered in various social reformations in Karnataka. How ?

Black soil is best suitable for the cultivation of cotton. Justify.
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-22. Classify the foliowing rivers into East flowing and West flowing rivers :

L ) E _ \ad v ) ')3 () _ W '
Narmada, Mahanadi, Tapi, Godavari, Krishna, Sharavati, Sabarmati,
£
Cauveri.

+

23. What are the goals of public expenditure ?
24, Write about Narayana Murthy.
Answer the following questions in six sentences each : 9x3=27
25. Mention the conditions of Subsidiary Alliance.
OR

Mention the aims of Arya Samaja.
26. British land tax system completely exploited the Indians. How ?
27. What are the political and administrative causes for the revolt of 1857 ?‘
28. India has cordial relationship with Russia. [llustrate.
297 Explain the Articles of our Constitution that provide Equélity in Education.

30. Road transport plays an important role in the economic development.

Justify.
31 Which factors influence the establishment of industries ?
OR

Which are the measures taken for the conservation of forests in India ?
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32. Explain the features of Panchayati Raj System adopted in India.
OR
Explain the importance of Banks.
33. What are the types of Banks»?
OR
What are the ad\./antages of Globalization ?
Answer the following questions in eight sentences each : 4x4=16
34. Explain the Role of Moderates in the freedom movement of India.
OR
Explain the role of Puttabasappa in the protest against the British.

35. Mention the major developments that took place during Non Co-operation

Movement.
36. Explain the negative impacts of corruption on society.

37. What are the causes and effects of floods ?
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VI. 38. Draw an outline map of India and mark the following :

a)

b)

c)

d)

Vindya ranges
Hirakud project
Visakhapatnam

Indira Col.

7

85-E

1+4=5

Alternative Question for Blind Candidates only : (In lieu of Q. No. 38)

What are the objectives of multi-purpose river valley projects ?
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